
MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)

LINES AND ANGLES

Solved Examples

1. Find the measure of an angle which is  more

than its complement.

Watch Video Solution

24∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DvRsm2jHD7Vm


2. Find the measure of an angle which is  less

than its supplement.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

32∘

47∘

140∘

90∘

74∘

https://dl.doubtnut.com/l/_DvRsm2jHD7Vm
https://dl.doubtnut.com/l/_mTpqLcRzHirm
https://dl.doubtnut.com/l/_0WEVmMmnSEE2


3. two supplementary angles are in the ratio ,

find the angles.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

3: 2

108∘ , 72∘

118∘ , 72∘

72∘ , 208∘

https://dl.doubtnut.com/l/_0WEVmMmnSEE2


4. The supplement of an angle is one third of the

given angle. Find the measures of the given angle

and its supplement.

Watch Video Solution

5. Find the measure of an angle if seven times its

complement is  less than three times its

supplement .

A. 

B. 

10∘

25∘

50∘

https://dl.doubtnut.com/l/_vjcVhrCI9mjN
https://dl.doubtnut.com/l/_6Wp5lbJ4EY7f


C. 

D. None of these

Answer: A

Watch Video Solution

100∘

6. In the adjoining figure,  is a straight line.

Find  and . 


AOB

∠AOC ∠BOD

https://dl.doubtnut.com/l/_6Wp5lbJ4EY7f
https://dl.doubtnut.com/l/_t8BXMjw5R1D8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

40∘ , 70∘

45∘ , 70∘

45∘ , 60∘

55∘ , 70∘

7. In the adjoining figure, what value of x will make

AOB, a straight line ? 

https://dl.doubtnut.com/l/_t8BXMjw5R1D8
https://dl.doubtnut.com/l/_acezY4xo4J8o


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 60

x = 50

x = 40

x = 30

https://dl.doubtnut.com/l/_acezY4xo4J8o


8. Calculate  and  in the

adjoining figure, it is being given that

 and  is a

straight line. 

Watch Video Solution

∠AOC, ∠BOD ∠AOE

∠COD = 90∘ , ∠BOE = 72∘ AOB

https://dl.doubtnut.com/l/_9yYWh7nVU0E1


9. In the given figure, ray OC stands on a straight

line AOB. Ray OD and ray OE are the bisectors of

 and  respectively. Find the measure

of . 


Watch Video Solution

∠AOC ∠BOC

∠DOE

https://dl.doubtnut.com/l/_jzejC4WEQODW


10. In the given figure, if  then prove

that AOB is a line. 

Watch Video Solution

x + y = z + w

https://dl.doubtnut.com/l/_bHp8URbw59d8
https://dl.doubtnut.com/l/_qlaHXeVXpfEy


11. In the given figure , if  then

prove that . 


Watch Video Solution

∠PQR = ∠PRQ

∠PQS = ∠PRT

12. In the given figure, AB CD and EF are three lines

concurrent at O. Find the value of y. 

https://dl.doubtnut.com/l/_qlaHXeVXpfEy
https://dl.doubtnut.com/l/_DCdZiqnrRhsX


A. .

B. .

C. .

D. .

Answer: C

Watch Video Solution

y = 10∘

y = 30∘

y = 20∘

y = 40∘

https://dl.doubtnut.com/l/_DCdZiqnrRhsX


13. In the given figure, AB is a mirror, PQ is the

incident ray and QR, the reflected ray. If

, find . 


A. 

B. 

C. 

∠PQR = 112∘ ∠PQA

35∘

34∘

36∘

https://dl.doubtnut.com/l/_DCdZiqnrRhsX
https://dl.doubtnut.com/l/_fxzur2NUPMFs


D. 

Answer: B

Watch Video Solution

30∘

14. Prove that the bisectors of a pair of vertically

opposite angles are in the same straight line.

Watch Video Solution

15. In the given figure, ray OC is the bisector of

 and OD is the ray opposite to OC. Show∠AOB

https://dl.doubtnut.com/l/_fxzur2NUPMFs
https://dl.doubtnut.com/l/_WiLeQhC4zik8
https://dl.doubtnut.com/l/_ArJ2EZ9Xif7d


that . 


Watch Video Solution

∠AOD = ∠BOD

16. Prove that the two lines which are both parallel

to the same line are parallel to one another.

Watch Video Solution

https://dl.doubtnut.com/l/_ArJ2EZ9Xif7d
https://dl.doubtnut.com/l/_f0Xyd5RV01nn
https://dl.doubtnut.com/l/_fbcRC5zmFWyM


17. If a line is perpendicular to one of the two given

parallel lines then prove that it is also

perpendicular to the other line.

Watch Video Solution

18. If two parallel lines are intersected by a

transversal then prove that the bisectors of any

pair of alternate interior angles are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_fbcRC5zmFWyM
https://dl.doubtnut.com/l/_VfLqmQrmeb0x


19. If the bisectors of a pair of corresponding

angles formed by a transversal with two given lines

lines are parallel, prove that the given lines are

parallel.

Watch Video Solution

20. If two parallel lines are intersected by a

transversal, prove that the bisectors of the two

pairs of interior angles enclose a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_BLPV2c0IpjBu
https://dl.doubtnut.com/l/_7caeeE7EHfA4
https://dl.doubtnut.com/l/_Uzn17sjv9kOO


21. In the given figure,

 and 

. Find the value of x. 


A. 

B. 

C. 

D. 

AB ∣ ∣ CD, ∠BAE = 50∘ , ∠AEC = x ∘

∠ECD = 100∘

x = 70

x = 60

x = 50

x = 40

https://dl.doubtnut.com/l/_Uzn17sjv9kOO


Answer: C

Watch Video Solution

22. In the given figure,

 and AB ∣ ∣ CD, ∠EAB = 105∘ , ∠AEC = 25∘

https://dl.doubtnut.com/l/_Uzn17sjv9kOO
https://dl.doubtnut.com/l/_Ajnsm3i5hA00


. Find the value of x. 


A. 

B. 

C. 

D. 

∠ECD = x ∘

x = 120

x = 140

x = 130

x = 150

https://dl.doubtnut.com/l/_Ajnsm3i5hA00


Answer: C

Watch Video Solution

23. If the arms of one angle are respectively parallel

to the arms of another angle, show that the two

angles are either equal or supplementary.

Watch Video Solution

24. Prove the the opposite angles of a

parallelogram are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_Ajnsm3i5hA00
https://dl.doubtnut.com/l/_Sm4NiXLvvbwf
https://dl.doubtnut.com/l/_Um50GDGzM1Mv


Watch Video Solution

25. In the given figure, , =x, 

=y, =z, =  and

. Find the values of x, y, and z.

Watch Video Solution

AB||CD||EF ∠DBG

∠EDH ∠AEB ∠EAB 90∘

∠BEF = 65∘

26. In the given figure, . Prove that: 


. 


AB ∣ ∣ DE

∠ABC + ∠BCD = 180∘ + ∠CDE

https://dl.doubtnut.com/l/_Um50GDGzM1Mv
https://dl.doubtnut.com/l/_ObDsjkLb9ajG
https://dl.doubtnut.com/l/_bS9mBHworANP


Example

Watch Video Solution

1. In the given figure, lines XY and LM intersect at O.

If 

∠XOL = a, ∠LOP = b, ∠POY = 90∘ , ∠XOM = c

https://dl.doubtnut.com/l/_bS9mBHworANP
https://dl.doubtnut.com/l/_LlKuVourIwdF


and , find the value of c. 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a : b = 2: 3

144∘

126∘

90∘

54∘

https://dl.doubtnut.com/l/_LlKuVourIwdF


2. In the given figure,  and XY is

produced to a point P. If ray YQ bisects ZYP, find 

XYQ and reflex . 


∠XYZ = 56∘

∠ ∠

∠QYP

https://dl.doubtnut.com/l/_I1fazmsJio6R


Watch Video Solution

3. In the given figure,  and a transversal t

cuts them. If , find the measure of each of

the remaining marked angles. 

Watch Video Solution

l ∣ ∣ m

∠1 = 70∘

https://dl.doubtnut.com/l/_I1fazmsJio6R
https://dl.doubtnut.com/l/_Bq9h6eDy7Hun
https://dl.doubtnut.com/l/_A5GvDFVxjPnX


4. In the given figure,  and a transversal t

cuts them. If , find the measure of

each of the marked angles. 

Watch Video Solution

l ∣ ∣ m

∠1: ∠2 = 5: 4

https://dl.doubtnut.com/l/_A5GvDFVxjPnX


5. In the given figure,  and 

. If  and 

, find the value of x. 


Watch Video Solution

AB ∣ ∣ CD

∠AOC = x ∘ ∠OAB = 104∘

∠OCD = 116∘

https://dl.doubtnut.com/l/_RC9nhXTdDI5r


6. In the given figure,

. Find

the value of the reflex  and hence the value

of x. 

A. 283

B. 284

AB ∣ ∣ CD, ∠ABO = 40∘ , ∠CDO = 35∘

∠BOD

https://dl.doubtnut.com/l/_TuYG4C8iO46I


C. 285

D. 286

Answer: C

Watch Video Solution

7. In the given figure,

 and AB||CD||EF , PQ ∣ ∣ RS, ∠RQD = 25∘

https://dl.doubtnut.com/l/_TuYG4C8iO46I
https://dl.doubtnut.com/l/_H5CubquSL5Yv


. Find . 


Watch Video Solution

∠CQP = 60∘ ∠QRS

8. In the given figure,

 andAB ∣ ∣ CD, ∠ABE = 120∘ , ∠ECD = 100∘

https://dl.doubtnut.com/l/_H5CubquSL5Yv
https://dl.doubtnut.com/l/_PGFEBaBcvvBS


. Find the value of x. 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∠BEC = x ∘

x = 30

x = 20

x = 50

x = 40

https://dl.doubtnut.com/l/_PGFEBaBcvvBS
https://dl.doubtnut.com/l/_XC3Hy0eI5Ux5


9. Two plane mirrors, m and n, are placed parallel to

each other as shown in the figure, A ray AB is

incident on the first mirror. It is reflected twice and

emerges in the direction CD. Prove that

. 


Watch Video Solution

AB ∣ ∣ CD

https://dl.doubtnut.com/l/_XC3Hy0eI5Ux5


10. In the given figure,  and 

. The arms DE 


and EF of  cut BC at P and Q respectively,

Prove that . 


Watch Video Solution

∠ABC = 80∘

∠DEF = 45∘

∠DEF

PD ∣ ∣ BA

https://dl.doubtnut.com/l/_aRRafze3jTec


11. In the given figure,  and 

. PD is produced downwards to meet

AB at E and . If , find 

 and . 


Watch Video Solution

AB ∣ ∣ CD

∠CDP = 35∘

∠BEF = 75∘ DQ ∣ ∣ EF

∠AED, ∠DEF ∠PDQ

https://dl.doubtnut.com/l/_Hoxi9fQZdYqr


12. In the given figure,  and

. Find . 


Watch Video Solution

AB ∣ ∣ CD, ∠A = 90∘

∠AEC = 40∘ ∠ECD

https://dl.doubtnut.com/l/_rtLsl8A0Dkxs


Exercise 7 A

13. In the given figure,

 and . Find 

 and . 


Watch Video Solution

AB ∣ ∣ CD, ∠GED = 125∘ EF ⊥ CD

∠AGE, ∠GEF ∠FGE

https://dl.doubtnut.com/l/_eE0Ko8iJ8KWL


1. Define the following terms : 

(i) Angle 

(ii) Interior of an angle 

(iii) Obtuse angle 

(iv) Reflex angle 

(v) Complementary angles 

(vi) Supplementary angles

Watch Video Solution

2. Find the complament of each of the following

angles: 

https://dl.doubtnut.com/l/_djuFqmdoMzMQ
https://dl.doubtnut.com/l/_U9Rl9PWMJzB7


(i)  (ii)  


(iii)  (iv)  of a right angle

Watch Video Solution

55∘ 16∘

90∘ 2

3

3. Find the supplement of each of the following

angles : 

(i)  (ii)  


(iii)  (iv)  of a right angle

Watch Video Solution

42∘ 90∘

124∘ 3

5

https://dl.doubtnut.com/l/_U9Rl9PWMJzB7
https://dl.doubtnut.com/l/_uq2kFFTYZdtn


4. Find the measure of an angle which is 

(i) equal to its complement, (ii) equal to its

supplement.

Watch Video Solution

5. Find the measure of an angle which is  more

than its complement.

A. 

B. 

C. 

36∘

62∘

63∘

64∘

https://dl.doubtnut.com/l/_1xXgn4kWpREa
https://dl.doubtnut.com/l/_WV5WOSgaRcTE


D. 

Answer: B

Watch Video Solution

65∘

6. Find the measure of an angle which is  less

than its supplement.

Watch Video Solution

30∘

7. Find the angle which is four times its

complement.

https://dl.doubtnut.com/l/_WV5WOSgaRcTE
https://dl.doubtnut.com/l/_40poUPHPXmSC
https://dl.doubtnut.com/l/_FK4l0xnpwIgg


Watch Video Solution

8. Find the angle which is five times it supplement.

Watch Video Solution

9. Find the angle whose supplement is four times

its complement.

A. 

B. 

C. 

30∘

45∘

60∘

https://dl.doubtnut.com/l/_FK4l0xnpwIgg
https://dl.doubtnut.com/l/_nqpleKxBXFoM
https://dl.doubtnut.com/l/_dZd1zCkvnVAQ


D. 

Answer: C

Watch Video Solution

90∘

10. Find the angle whose complement is one third

of its supplement.

Watch Video Solution

11. Two complementary angles are in the ratio .

Find the angles.

4: 5

https://dl.doubtnut.com/l/_dZd1zCkvnVAQ
https://dl.doubtnut.com/l/_KT8FgpmF6ZZ2
https://dl.doubtnut.com/l/_3n1OEdjCwAMV


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

40∘ , 30∘

40∘ , 50∘

60∘ , 50∘

50∘ , 50∘

12. Find the values of x for which the angles

 and  are the complementary

angles.

Watch Video Solution

(2x − 5) ∘ (x − 10) ∘

https://dl.doubtnut.com/l/_3n1OEdjCwAMV
https://dl.doubtnut.com/l/_gxp4NDnliGJ6


Exercise 7 B

Watch Video Solution

1. In the adjoining figure, AOB is a straight line. Find

the value of x. 

A. 

B. 

116

118

https://dl.doubtnut.com/l/_gxp4NDnliGJ6
https://dl.doubtnut.com/l/_VEmUgTD5Udao


C. 

D. 

Answer: B

Watch Video Solution

117

119

2. In the adjoining figure, AOB is a straight line.

Find the value of x. Hence, find  and .∠AOC ∠BOD

https://dl.doubtnut.com/l/_VEmUgTD5Udao
https://dl.doubtnut.com/l/_2BVvq1oj1QT7


A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

64∘

84∘

38∘

48∘

x = 28, ∠AOC = 77∘ , ∠BOD = 48∘

3. In the adjoining figure, AOB is a staright line .

Find the value of x. Hence, find  and∠AOC, ∠COD

https://dl.doubtnut.com/l/_2BVvq1oj1QT7
https://dl.doubtnut.com/l/_FtPqXeeMMwdn


. 

Watch Video Solution

∠BOD

4. In the adjoining figure, . If XOY is

a straight line, find the values of x, y and z. 

x : y : z = 5: 4: 6

https://dl.doubtnut.com/l/_FtPqXeeMMwdn
https://dl.doubtnut.com/l/_7OUC4o6Zv0tj


Watch Video Solution

5. In the adjoining figure, what value of x will make

AOB, a straight line ? 

Watch Video Solution

https://dl.doubtnut.com/l/_7OUC4o6Zv0tj
https://dl.doubtnut.com/l/_JruyZXWBphXR


6. Two lines AB and CD intersect at O. If

, find  and . 


A. 

B. 

∠AOC = 50∘ ∠AOD, ∠BOD ∠BOC

∠AOD = 130∘ , ∠BOC = 130∘ , ∠BOD = 70∘

∠AOD = 130∘ , ∠BOC = 140∘ , ∠BOD = 50∘

https://dl.doubtnut.com/l/_JruyZXWBphXR
https://dl.doubtnut.com/l/_f3oeW62mnwT5


C. 

D. 

Answer: C

Watch Video Solution

∠AOD = 130∘ , ∠BOC = 130∘ , ∠BOD = 50∘

∠AOD = 150∘ , ∠BOC = 130∘ , ∠BOD = 50∘

7. In the adjoining figure, three coplanar lines AB,

CD and EF intersect at a point O, forming angles as

https://dl.doubtnut.com/l/_f3oeW62mnwT5
https://dl.doubtnut.com/l/_e3Xrdv8J0nkg


shown. Find the values of x, y, z and t. 

Watch Video Solution

https://dl.doubtnut.com/l/_e3Xrdv8J0nkg


8. In the adjoining figure, three coplanar lines AB,

CD and EF intersect at a point O. Find the value of x.

Hence, find  and . 


Watch Video Solution

∠AOD, ∠COE ∠AOE

https://dl.doubtnut.com/l/_9X9QuUgYOIli


9. Two adjacent angles on a straight line are in the

ratio 5 : 4. find the measure of each one of these

angles.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

100∘ , 90∘

90∘ , 90∘

100∘ , 80∘

70∘ , 80∘

https://dl.doubtnut.com/l/_FYjMDXFVETVR
https://dl.doubtnut.com/l/_0BTesisncBoG


10. If two straight lines intersect each other in such

a way that one of the angles formed measures ,

show that each of the remaining angles measures

.

Watch Video Solution

90∘

90∘

11. Two lines AB and CD intersect at a point O such

that = , as shown in the

figure. Find all the four angles.

Watch Video Solution

∠BOC + ∠AOD 280∘

https://dl.doubtnut.com/l/_0BTesisncBoG
https://dl.doubtnut.com/l/_LjGDb4VZKzlw


12. Two lines AB and CD intersect each other at a

point O such that . Find all

the angles.

Watch Video Solution

∠AOC : ∠AOD = 5: 7

13. In the given figure, three lines AB, CD and EF

intersect at a point O such that  and

. Find the measure of 

 and .

Watch Video Solution

∠AOE = 35∘

∠BOD = 40∘

∠AOC, ∠BOF , ∠COF ∠DOE

https://dl.doubtnut.com/l/_mEFKZ21UwCg5
https://dl.doubtnut.com/l/_4SdbLIINNc2i
https://dl.doubtnut.com/l/_ZXxIv6aJUcU6


14. In the given figure, the two lines AB and CD

intersect at a point O such that .

Find the values of x, y, and z.

Watch Video Solution

∠BOC = 125∘

15. If two straight lines intersect
 each other, prove

that the ray opposite to the bisector of one of the

angles
 thus formed bisects the vertically opposite

angle.

Watch Video Solution

https://dl.doubtnut.com/l/_ZXxIv6aJUcU6
https://dl.doubtnut.com/l/_6Quwc5y69GpJ


Exercise 7 C

16. Prove that the bisectors of two adjacent

supplementary angles include a right angle.

Watch Video Solution

1. In this given figure,  and a transversal t

cuts them. If , find the measure of each

of the remaining marke angles.

Watch Video Solution

l ∣ ∣ m

∠7 = 120∘

https://dl.doubtnut.com/l/_B23glj99yxKe
https://dl.doubtnut.com/l/_vJL2qQZNeLj1
https://dl.doubtnut.com/l/_KgFOf1DGdi5U


2. In the given figure,  and a transversal t

cuts them. If ∠7= , find the measure of each of

the remaining marked angles.

Watch Video Solution

l ∣ ∣ m

80∘

3. In the given figure,  and a traversal t cuts

them. If , find the measure of each of

l ∣ ∣ m

∠1: ∠2 = 2: 3

https://dl.doubtnut.com/l/_KgFOf1DGdi5U
https://dl.doubtnut.com/l/_AKyVa4USBZDa


the marked angles. 

Watch Video Solution

4. For what value of x will the lines l and m be

parallel to each other ? 

https://dl.doubtnut.com/l/_AKyVa4USBZDa
https://dl.doubtnut.com/l/_spdGEj7CZQAE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 45∘

x = 40∘

x = 30∘

x = 60∘

https://dl.doubtnut.com/l/_spdGEj7CZQAE


5. For what value of x will the lines l and m be

parallel to each other ? 

A. 

B. 

C. 

D. 

x = 50

x = 25

x = 20

x = 35

https://dl.doubtnut.com/l/_spdGEj7CZQAE
https://dl.doubtnut.com/l/_QcVWDkCZNYYD


Answer: B

Watch Video Solution

6. In the given figure,  and .

Find the value of x. 

Watch Video Solution

AB ∣ ∣ CD BC ∣ ∣ ED

https://dl.doubtnut.com/l/_QcVWDkCZNYYD
https://dl.doubtnut.com/l/_DNpTSDTCLYMQ


7. In the given figure, . Find the value

of x. 

A. 40

B. 10

C. 20

AB||CD||EF

https://dl.doubtnut.com/l/_DNpTSDTCLYMQ
https://dl.doubtnut.com/l/_1se5uA4vFSER


D. 30

Answer: 

Watch Video Solution

x = 20

8. In the given figure, || . Find the values of 

 and  


A. 

AB CD

x, y z.

x = 110, y = 55, z = 65

https://dl.doubtnut.com/l/_1se5uA4vFSER
https://dl.doubtnut.com/l/_lv2Whwc3msTF


B. 

C. 

D. 

Answer: D

Watch Video Solution

x = 115, y = 65, z = 60

x = 100, y = 70, z = 55

x = 105, y = 75, z = 50

9. In each of the figures given below, .

Find the value of x in each case. 

AB ∣ ∣ CD

https://dl.doubtnut.com/l/_lv2Whwc3msTF
https://dl.doubtnut.com/l/_cUWpP0egGzAp


Watch Video Solution

10. In the given figure, . Find the value

of x. 

A. 

B. 

AB ∣ ∣ CD

x = 120∘

x = 130∘

https://dl.doubtnut.com/l/_cUWpP0egGzAp
https://dl.doubtnut.com/l/_WMbx8U8m0iIs


C. 

D. 

Answer: 

Watch Video Solution

x = 115∘

x = 110∘

D

11. In the given figure, . Find the values

of x and y. 

AB ∣ ∣ PQ

https://dl.doubtnut.com/l/_WMbx8U8m0iIs
https://dl.doubtnut.com/l/_XSbl4x61nSix


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 70, y = 50

x = 75, y = 55

x = 50, y = 70

x = 70, y = 60

12. In the given figure, . Find the value

of x. 

AB ∣ ∣ CD

https://dl.doubtnut.com/l/_XSbl4x61nSix
https://dl.doubtnut.com/l/_0ZoQgXBj0BI8


Watch Video Solution

13. In the given figure, . Find the value

of x. 

AB ∣ ∣ CD

https://dl.doubtnut.com/l/_0ZoQgXBj0BI8
https://dl.doubtnut.com/l/_SAde2SbaYq9z


A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

x = 40

x = 30

x = 20

x = 10

C

https://dl.doubtnut.com/l/_SAde2SbaYq9z


14. In the given figure, . Find th value of

x,y and z. 

Watch Video Solution

AB ∣ ∣ CD

15. In the given figure, . Prove that 

 


AB ∣ ∣ CD

∠BAE − ∠ECD = ∠AEC

https://dl.doubtnut.com/l/_SAde2SbaYq9z
https://dl.doubtnut.com/l/_BxzRl3TWPpKf
https://dl.doubtnut.com/l/_snmtuzSR3I6X


Watch Video Solution

16. In the given figure, . Prove that 

. 


AB ∣ ∣ CD

p + q − r = 180

https://dl.doubtnut.com/l/_snmtuzSR3I6X
https://dl.doubtnut.com/l/_p6NprdIpqfgN


Watch Video Solution

17. In the given figure,  and 

. Find the values of x, y, z and t. 


AB ∣ ∣ CD

EF ∣ ∣ GH

https://dl.doubtnut.com/l/_p6NprdIpqfgN
https://dl.doubtnut.com/l/_klSTauLFgeLi


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x = 60, y = 70, z = 60, t = 70

x = 70, y = 70, z = 60, t = 60

x = 40, y = 50, z = 60, t = 70

x = 60, y = 60, z = 70, t = 70

https://dl.doubtnut.com/l/_klSTauLFgeLi


18. In the given figure,  and a

transversal t cuts them at E and F respectively. If EG

and FG are this bisectors of  and 

respectivelym prove that . 


Watch Video Solution

AB ∣ ∣ CD

∠BEF ∠EFD

∠EGF = 90∘

https://dl.doubtnut.com/l/_klSTauLFgeLi
https://dl.doubtnut.com/l/_bLMkBb8J96qz
https://dl.doubtnut.com/l/_mbwn9XHGel7i


19. In the given figure,  and a

transversal t cuts them at E and F respectively. If EP

and FQ are the bisectors of  and 

respectively, prove that . 


Watch Video Solution

AB ∣ ∣ CD

∠AEF ∠EFD

EP ∣ ∣ FQ

https://dl.doubtnut.com/l/_mbwn9XHGel7i


20. In the given figure,  and 

. Show that . 


Watch Video Solution

BA ∣ ∣ ED

BC ∣ ∣ EF ∠ABC = ∠DEF

21. In the given figure,  and 

. Show that . 


BA ∣ ∣ ED

BC ∣ ∣ EF ∠ABC + ∠DEF = 180∘

https://dl.doubtnut.com/l/_SwNMfDXaGNZJ
https://dl.doubtnut.com/l/_2QWkU4yjyeJ5


Watch Video Solution

22. In Figure, 
 are two plane mirrors

perpendicular to each other. Show that the

m and n

https://dl.doubtnut.com/l/_2QWkU4yjyeJ5
https://dl.doubtnut.com/l/_cv0jJviSfhNh


incident ray 
is parallel to the
reflected ray  


Watch Video Solution

CA BD

23. In the figure given below, state which lines are

parallel and why ? 

https://dl.doubtnut.com/l/_cv0jJviSfhNh
https://dl.doubtnut.com/l/_t2rqGIlZ1cYQ


Watch Video Solution

24. Two lines are respectively perpendicular to two

parallel llines. Show that they are parallel to each

other.

Watch Video Solution

https://dl.doubtnut.com/l/_t2rqGIlZ1cYQ
https://dl.doubtnut.com/l/_npiorBZ3MTbR


Multiple Choice Questions Mcq

1. If one angle of a triangle is equal to the sum of

the other two angles, then the triangle is

A. an isosceles triangle

B. an obtuse triangle

C. an equilateral triangle

D. a right triangle

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yZg2GeBKU1Oq


2. An exterior angle of a triangle is  and its

two interior opposite angles are equal. Each of

these equal angles is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

110∘

70∘

55∘

35∘

27
1

2∘

https://dl.doubtnut.com/l/_yZg2GeBKU1Oq
https://dl.doubtnut.com/l/_E3uB7XZz60uX


3. The angles of a triangle are in the ratio .

The triangle is

A. acute angled

B. obtuse angled

C. right angled

D. an isosceles triangle

Answer: B

Watch Video Solution

3: 5: 7

https://dl.doubtnut.com/l/_7CsK4Mq5dzn0


4. If one of the angles of a triangle is  then the

angle between the bisectors of the other two

angles can be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

130∘

50∘

65∘

90∘

155∘

https://dl.doubtnut.com/l/_qZa6W7xeGv2P
https://dl.doubtnut.com/l/_rZy52243j0R0


5. In the given figure, AOB is a straight line. The

value of x is 

A. 12

B. 15

C. 20

D. 25

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rZy52243j0R0


6. The angles of a triangle are in the ratio .

The largest angle of the triangle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 3: 4

120∘

100∘

80∘

60∘

https://dl.doubtnut.com/l/_1DKL0R79QVPG


7. In the given figure,  and 

 then  is equal to 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠OAB = 110∘

∠BCD = 130∘ ∠ABC

40∘

50∘

60∘

70∘

https://dl.doubtnut.com/l/_SUtjotHXQKOh
https://dl.doubtnut.com/l/_F8dDoWRDhT7W


8. If two angles are complementary to each other,

then each angle is :

A. an acute angle

B. an obtuse angle

C. a right angle

D. a reflex angle

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F8dDoWRDhT7W


9. An angle which measures more than  but

less than , is called

A. an acute angle

B. an obtuse angle

C. a straight angle

D. a reflex angle

Answer: D

Watch Video Solution

180∘

360∘

https://dl.doubtnut.com/l/_LIxpCpVSSXpC


10. The measure of an angle which is five times its

complement. The angle measures.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25∘

35∘

65∘

75∘

https://dl.doubtnut.com/l/_cttv5S5LtX6z


11. Two complementary angles are such that twice

the measure of the one is equal to three times the

measure of the other. The largest of the two

measures.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

72∘

54∘

63∘

36∘

https://dl.doubtnut.com/l/_67cK42z9BBbb


12. In the given figure, AOB is a straight line. If

 and  then 

 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠AOC = 4x ∘ ∠BOC = 5x ∘

∠AOC = ?

40∘

60∘

80∘

100∘

https://dl.doubtnut.com/l/_SP5d3hbImufj


13. In the given figure, AOB is a straight line. If

 and ,

then = ?


A. 

B. 

C. 

D. 

Answer: B

∠AOC = (3x + 10) ∘ ∠BOC = (4x − 26) ∘

∠BOC

96∘

86∘

76∘

106∘

https://dl.doubtnut.com/l/_9ip0tCYXxdpZ


Watch Video Solution

14. In the given figure, AOB is a straight line. If

 and 

 then  


A. 

B. 

C. 

D. 

Answer: C

∠AOC = (3x − 10)
∘
, ∠COD = 50∘

∠BOD = (x + 20)
∘

∠AOC = ?

40∘

60∘

80∘

50∘

https://dl.doubtnut.com/l/_9ip0tCYXxdpZ
https://dl.doubtnut.com/l/_WPh2ZVqwRvBz


Watch Video Solution

15. Which of the following statements is false ?

A. Through a given point, only one straight line

can be drawn.

B. Through two given points, it is possible to

draw one and only one straight line.

C. Two straight lines can intersect only at one

point.

https://dl.doubtnut.com/l/_WPh2ZVqwRvBz
https://dl.doubtnut.com/l/_nNsau34medoT


D. A line segment can be produced to any

desired length.

Answer: A

Watch Video Solution

16. An angle is one fifth of its supplement. The

measure of the angle is

A. 

B. 

C. 

15∘

30∘

75∘

https://dl.doubtnut.com/l/_nNsau34medoT
https://dl.doubtnut.com/l/_FNWANhFzIDvm


D. 

Answer: B

Watch Video Solution

150∘

17. In the adjoining figure, AOB is a straight line. If

, then  


A. 

B. 

C. 

x : y : z = 4: 5: 6 y = ?

60∘

80∘

48∘

https://dl.doubtnut.com/l/_FNWANhFzIDvm
https://dl.doubtnut.com/l/_Zj8zqWvvMQet


D. 

Answer: A

Watch Video Solution

72∘

18. In the given figure, straight lines AB and CD

intersect at O. If ,  and 

, then 

A. 

B. 

C. 

∠AOC = ϕ ∠BOC = θ

θ = 3ϕ ϕ = ?

30∘

40∘

45∘

https://dl.doubtnut.com/l/_Zj8zqWvvMQet
https://dl.doubtnut.com/l/_ZWylMoGIPJlp


D. 

Answer: C

Watch Video Solution

60∘

19. straight lines AB and CD intersect at O. If

 then 

A. 

B. 

C. 

D. 

∠AOC + ∠BOD = 130∘ ∠AOD = ?

65∘

115∘

110∘

125∘

https://dl.doubtnut.com/l/_ZWylMoGIPJlp
https://dl.doubtnut.com/l/_XAGuwYx5TZlI


Answer: B

Watch Video Solution

20. In the given figure, AB is a mirror, PQ is the

incident ray and QR is the relfected ray. If

 then 

A. 

B. 

C. 

D. 

∠PQR = 108∘ ∠AQP = ?

72∘

18∘

34∘

54∘

https://dl.doubtnut.com/l/_XAGuwYx5TZlI
https://dl.doubtnut.com/l/_FSf9BM0oOYvi


Answer: `C

Watch Video Solution

21. In the given figure, . If 

 and  then 

 


A. 

AB ∣ ∣ CD

∠BAO = 60∘ ∠OCD = 110∘

∠AOC = ?

70∘

https://dl.doubtnut.com/l/_FSf9BM0oOYvi
https://dl.doubtnut.com/l/_R2kggaCG9LU4


B. 

C. 

D. 

Answer: C

Watch Video Solution

60∘

50∘

40∘

22. In the given figure, . If 

 and  then 

AB ∣ ∣ CD

∠AOC = 30∘ ∠OAB = 100∘

https://dl.doubtnut.com/l/_R2kggaCG9LU4
https://dl.doubtnut.com/l/_VOFT6JS2G6iX


 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∠OCD = ?

130∘

150∘

80∘

100∘

https://dl.doubtnut.com/l/_VOFT6JS2G6iX


23. In the given figure, . If 

 and  then 

 


A. 

B. 

C. 

D. 

AB ∣ ∣ CD

∠CAB = 180∘ ∠EFC = 25∘

∠CEF = ?

65∘

55∘

45∘

75∘

https://dl.doubtnut.com/l/_bio8CChRCLRs


Answer: B

Watch Video Solution

24. In the given figure  and 

. If  then  


A. 

B. 

C. 

AB ∣ ∣ CD

CD ∣ ∣ EF y : z = 3: 7 x = ?

108∘

126∘

162∘

https://dl.doubtnut.com/l/_bio8CChRCLRs
https://dl.doubtnut.com/l/_YUXvPngbanes


D. 

Answer: B

Watch Video Solution

63∘

25. In the given figure, . If 

 and  then 

 


< 

AB ∣ ∣ CD

∠APQ = 70∘ ∠PRD = 120∘

∠QPR = ?

https://dl.doubtnut.com/l/_YUXvPngbanes
https://dl.doubtnut.com/l/_QWo1z7NgkxbI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

50∘

60∘

40∘

35∘

26. In the given figure, . If 

 and  then 

AB ∣ ∣ CD

∠EAB = 50∘ ∠ECD = 60∘

https://dl.doubtnut.com/l/_QWo1z7NgkxbI
https://dl.doubtnut.com/l/_SqIfjOTHlaLE


 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠AEB = ?

50∘

60∘

70∘

55∘

https://dl.doubtnut.com/l/_SqIfjOTHlaLE
https://dl.doubtnut.com/l/_eZTQ5csxg2qc


27. In the given figure,

 and

. Then,  


A. 

B. 

C. 

D. 

Answer: C

∠OAB = 75∘ , ∠OBA = 55∘ ∠OCD = 100∘

∠ODC = ?

20∘

25∘

30∘

35∘

https://dl.doubtnut.com/l/_eZTQ5csxg2qc


Watch Video Solution

28. In the adjoining figure, what is the value of y ? 

A. 36

B. 54

https://dl.doubtnut.com/l/_eZTQ5csxg2qc
https://dl.doubtnut.com/l/_TQ5LyVJFfQ7E


C. 63

D. 72

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TQ5LyVJFfQ7E

